Zatyczka 30x2

Haczyk na ubrania /4

Sruba samogwintujaca

3x16

Sruba samogwintujaca

/ M6x35 ;

Sruba zamkowa M6x3

Podktadka 6,4

Nakretka M6

Sruba 6HR M8x20

Podkiadka 8,4

Nakretka M8
Zatyczka 30x2

Postup sestaveni
Postup zostavovania
Procedura budowania
Montageanleitung

(1,2,3,4,5)

11nim

Szkielet fawki

Deski swierkowe

Sruba 6HR M8x20
Podktadka 8,4
Nakretka M8

Sruba zamkowa M6x35
Podktadka 6,4
Nakretka M6

Haczyk na ubrania
Wkret 3x16

Zatyczka 30x2

Sruba samogwintujaca M6x35

4x
10x
8x
8x
8x
24x
24x
24x
10x
20x
8x
8x





